Section 3 Check-up 3
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Shade one-third of this shape.

ANSWER

39

Session Focus

Know pairs that total 20. Missing number sequences. Multiplication facts for
2s, 3s, 55 and 10s. Sharing. Doubles to 20. Halves, quarters, three-quarters and
one-third of quantities and shapes. Add three single-digit numbers.

20 What is % of 2L?

21 Whatisay of 24?

22 What is & of 24?

23 Shade a quarter of this shape.

2L, How many squares need to be

shaded to show three-quarters
of the shape above?

25 Double 18 and add 2.

26 Double 17 and add 6.

27  The product of 3 and 5.

28 The product of 6 and 10.

29 Share 40 kiwi fruits equally
between 5.

30 Share 12 apples equally

between 2.



